
Bilkent University
Department of Mathematics

Problem Of The Month

Term: March 2021

In a country consisting of 100 cities there are direct round flights between some pairs of cities.
The total number of flights is 2021 and each flight is operated by one of n air companies.
There are at least two cities such that one is not reachable from the other one by less than
three flights. Given that for any two cities there is an air company connecting these cities
(by direct or not direct flights) find the maximal possible value of n.


